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(01/€0/S0) LT Bla
(01/€0/20) 97 BlQ
(01/20/97) Szeld
(ot/z0/vT) vz Eld
(01/20/6T) €T BIA
(ot/z0/TT) 2T RIQ
(0T/z0/0T) TZBIQ
(0T/z0/8) 0T RIQ
(0T/Z0/S0) 6T BIA
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(0T/20/€0) 8T BIA
(01/10/67) L1 RIQ
(oT/10/£2) 9T RIQ

(01/10/52) ST RIQ
(01/10/22) P1 RIQ
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(o1/T0/0T) €T BIQ
(ot/TO/8T) ZTBIQ
(ot/TO/ET) TTRIQ
(ot/TO/TT) 0T BIQ
(0T/10/60) 6EIT
(0T/10/¥70) 8EIQ

(60/2T/0¢€) LBIQ

(60/21/€7) 9kl

(6002/21/12) S®IQ
(6002/21/8T) v BIQ
(6002/21/9T) €®IQ
(6002/21/¥T) TRIQ
(6002/2T/1T) TRIQ

=fli—=Temperatura media compost

=¢—Temperatura ambiente




